Assembly Instruction for Chicago 31702AEM

LIST OF PARTS

TOOLS REQUIRED:NO TOOLS REQUIRED (
PART LIST A
NO | Description Item Quantity J
P Left Arm ( 1 ” |l
Backrest !—
I 1 =
5 Left Arm 1 B
Seat et
=

c wall plug Qmﬂ:@] 1

transformer| ®

D | Front wood leg || o 1

E |Back wood leg 2 1

F |Central plastic leg %> 3 ©
G | L metalleg 1 D,

H | M10 screw & 1 Lo

| M6 screw & 2

J washer ® 1




Assembly Instruction for Chicago 31702AEM

\ ]

|

il
——

=22

TOOLS REQUIRED:NO TOOLS REQUIRED

LIST OF PARTS

PART LIST
NO | Description ltem Quantity
I}B\rml!ess (
A ackrest 1
Armless
B Seat 1
g | Wood leg @ 4

(
A
| |
// \\
3 (e
)
— @ e




Assembly Instruction for Chicago 31702AEM

LIST OF PARTS

TOOLS REQUIRED:NO TOOLS REQUIRED

PART LIST
NO | Description ltem Quantity
Wedge 1 _
. [S5E2) :
E | Wood leg @ 5




Assembly Instruction for Chicago 31702AEM

LIST OF PARTS

TOOLS REQUIRED:NO TOOLS REQUIRED

PART LIST
NO | Description ltem Quantity
Armless (
Backrest
A ackres 1
Armless
B Seat 1
o | waipug |[e>get=|
transformer| - :
Plastic leg o 4
G | L metal leg 2
| | M6 screw « 4

[
A j
| |
B
¥ N\
e [
e e De
$ o| U




Assembly Instruction for Chicago 31702AEM

T

LIST OF PARTS

TOOLS REQUIRED:NO TOOLS REQUIRED

PART LIST
NO | Description Item Quantity
Chaise
A | Backrest @ 1
Chaise
B Seat @ 1
D | Front wood leg Lo 3
E | Back wood leg @ 2
H | screw M10 & 3
J washer () 3




ASSEMBLY INSTRUCTIONS
28 E F G
- _E_
Rl & d

4]

D

STEP1: / _‘\

Please put the chair upside down , 1}
find the sdg legs on the bottom of ¢ - B 3
sofa , which strapg:ed on the \
mechanism (FOR MOTION SOFA),

or open the zipper on the bottom of
sofa , take out the sofa legs
(FOR STATIONARY SOFA ).

=

f/
/
\ ¥
i -G (&) Ba
ElG) ©° -
o= @

SKU:1353170717531701
/
L 1 7
SKU:13331703/17331707 SKU:13431705/17431709

Install all legs ==.|n::|::‘|:m:lin%_lz.lI to above instruction:
1)Front leg: Altach the front wood I::g ﬁ? into the bottom of

air by using 1 piece washer (J) a 0 screw (H) through
the hole. Use hand to tighten the M10 screws (H) clockwise
until secure.
;@

2)Back leg: Insert the back leg (E) in to the hole. Use hand to
ghten the back leg (E) clockwise until secure,

3)Central leg: Insert the central leg (F) in to the hole. Use
hand to tighten the central leg (F) clockwise until secure.

D

4)L metal leg: Attached the L metal leg (G) , using 1 piece 3

screw (1) through the hole , Use hand to tighten until secure.

SKU:13731709/17731703/13731701/17731705

16



ASSEMBLY INSTRUCTIONS

STEP 2:

Install the Backrest(A) into the Seat (B) by positioning the female metal receiver brackets over the male metal posts.
Ensure that female metal receiver brackets on each side of the backrest are positioned over the seat metal posts.
push down the female brackets over male posts simultaneously until each side is locked into place an audile "click” is heard.

Install all backrests of sectional pieces In the same way described above.

STEP 3:

Begin sectional connection by placing the power recliner# 1 in desired location in room.
Then start sectional connection by placing # 2 into piece # 1.
Continue sectional connection with piece # 3 thru #5 following the same method described above.

#1

#6




POWER CONNECTIONS

STEP 4:
P l/ e R
| |
#2 | #5 #6
i = —— = — —
STEP 5:

Connect wall plug transformer from Left Arm Seat to outlet.

/— wall plug transformer to Electrical Outlet ——\
.
H‘) R

Eleetrical Wall Oullat

wall plug transformer Plug green LED fit up

DRANGER - To rrduce the tish of sfectric sheck
1. Always unplug this furnishing fram the electrical outles before cleaning or
servicing.

[ e A T

1. Unplug from outlet before putting on of teung off pans.

2. Mever operate this fisrnishing if it has o damaged electrical cord or plug. it
it is not warking properly, or if the electrical cord or plig has been damaged
or dropped into water. Stop using this furnishing and call a service center for
examination and repair.

3. Keep the elsctrical cord and plug away from heated surfaces and other
heat sources.

4. To disconnect, tam all controls 10 the off position, then remove plug from
outle.

5. When operating. ensure that edectrical cord is not under the base, legs, or

motion mechanism to avold damage to electrical cord or plug.
. Do not strain or stretch electrical cord.

7. Do not use extension conds or power sirips.

8. Keep out of reach of children. This is not a toy.

Leer todas las de usar
EELIGRO - Py
1.Siempre orio de la
de limpiario o reparario.
ADVERTENCL, Inceadios, descargay
elfcirices o e yprs.
I del de colocar o quitar pares.

2. Nunca opere este sccesoro ¢l thene un cable o enchufe eléctrico dafiado, si

no funchona correctaments, o 3i el cable o el enchufe ebéctrico se ha daflado
ha cafdo al agun. Deje de usar ¥ llame 3 un contro de.

servicio para que o examinen v lo reparen.

3. Manicaga el el enchufe Iejos de I y
otras fuentes de calor.

4. P gine todos b ion de apagado, lvego
retire el enchufe del lomacomiente.

5. Al operar, asegiirese de que ¢l cable elécirico no esié debajo de I base,
lus patas o el mecanismo de movimiento par evitar daflar el cable elécirico

o el enchufe.

6. Mo feerce ni estire el cable elécwico.

7. Mo wil A PR Ry
8. Mantener fusra del al los nifios. Esto

STEP 6:

ELECTRICAL CONTROLS

1.Press button

2.Press button

(8]

@ to recline the chair to desired position.

@to raise the chair ro the upright position.




WARNINGS

*Keep unit at least 24" from all heat sources.

*Avoid placing unit in areas where unit can be exposed to direct sunlight other powerful light sources,
as fading or discoloration may occur.

Maintain minimum of 6”space between the furniture backs and wall.

*Do not reach under seat when mechanism is operating or serious injury may occur.
*Reclining mechanism should only be operated while seated properly.

A

*Do not sit on arms or backrest.
*Do not jump or roughhouse on furniture.

*Do not continuously operate mechanism for more than one minute or unit may go into protection
mode by shutting down to prevent overheating.

*Unplug unit from power source prior to cleaning mechanism.

*Do not allow electrical components to come into contact with any liquids.

CARE AND CLEANING

*Upholstered furniture is packaged tightly to protect it during transit. This packaging can sometimes
cause creases or misshaped cushions when the furniture comes out of the packaging. These issues will
correct themselves over time as the fibers of the cushions are exposed to air.However, shaping the
cushions with your hands can alleviate the creases and compressed fibers more quickly.

Before shaping After shaping

*Dust often and use a vacuum cleaner to remove debris from seams and crevasses.

*Use a soft damp cloth to gently clean soiled areas and wipe clean. Do not rub.

*Do not use household cleaners or solvents. Such cleaners may cause damage and/or discoloration.
*Do regularly use dedicated leather care product onto the leather furniture to prevent built up of body oils.

TROUBLE SHOOTING

PROBLEM SOLUTION

Not Reclining Ensure that wall power outlet is opertaional Step 4,5,6

USB not working Check all ower connections Step 4,5

Ensure the backrests are properly clipped into the male posts located on seat mechanism. (Step 2)

Backrests ga
bk Check that brackets are not loose, positioned improperly or bent.

(9]




